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BT 4 = T 3l BT 4 £ = =7 tHEH BT 4 = T tHEE BT 4 3 =z e HEH
B1TH 27 39 66 33| TEEET 139 107 246 131| KB HT 105 99 204 94| 1= B ET 3,780 3811 7,591 3,630
B2TH 195 252 447 231| 3R AE T 165 169 334 142 = EXE 3,889 4,054 7,943 3,896 | & HHET 920 997 1,917 842
#B3TH 98 112 210 121 | ERSET 21 19 40 19 L EET 1,638 1,631 3,269 1,460
B4TH 153 156 309 177|= L RHT 138 123 261 108 | X FilET 2,066 1,731 3,797 2,078 B aERT 867 901 1,768 776
B5TH 83 110 193 133| KILHT 160 182 342 139[ L FHT 2,494 2,550 5,044 2,380 | BT 1 1 2 1
E6TH 74 82 156 92| E REHT 143 172 315 148 EE EHT 2,004 1,839 3,843 2,046 | EHE X 5 7,328 7450 14,778 6,812
B7TH 73 86 159 77| TR ET 237 279 516 252 LaiHh X &t 6,564 6,120] 12,684 6,504

BZET1TH 226 218 444 233 | SR HT 265 319 584 319 2 T 595 559 1,154 470
B2 T H 152 158 310 157[{FSBTATH 252 249 501 249 | & HHAT 304 306 610 254 [ M BT 487 524 1,011 426
FHE1TH 126 118 244 133[ (R EA AT 76 84 160 o1 [ FIfRET 212 195 407 165/ EARET 213 232 445 182
RE2TH 54 64 118 67| 3= HHET 260 275 535 252 [T )11 AT 150 169 319 154| S HART 380 382 762 319
A= Bl 374 380 754 369|F E AT 417 468 885 396| H BHET 406 414 820 374 | FEH X & 1,675 1,697 3,372 1,397
E R 51 53 104 60| = L ET 316 287 603 279| H EHfT 455 455 910 433

E#RHET 71 92 163 97| F&HT 376 404 780 372 1§uﬁﬂn 338 338 676 355| A fREHHET 366 380 746 353
2L 5 9 14 9| A FHET 75 66 141 65 EIEHT 805 828 1,633 745 | 3518 BP AT 261 268 529 234
HEHE] 10 19 29 18| IH 1 11,477 12,377]  23854]  11,837|FKHWE1TH 256 267 523 244 | B5 HHAT 259 246 505 233
A& 16 13 29 14 P "AZTE 318 353 671 323| AFpih X &f 886 894 1,780 820
=R 18 32 50 28| )11 I ET 343 347 690 275|F{RET1TH 995 1,063 2,058 916

JK ZEHT 128 138 266 147| K ARET 514 535 1,049 491T)IET1TH 217 210 427 1942 EHET 148 133 281 140
B 216 245 461 242| K;EH 1,606 1,673 3,279 1,500 ;IJIIBT2TH 259 279 538 240| T & ZEH] 320 350 670 264
A1 TH 451 516 967 519\ BT 786 788 1,574 632;TJIIBT3TH 429 470 899 397|BE 1,827 1,739 3,566 1,612
X2 TH 489 528 1,017 485 | fiE AR BT 317 343 660 281;TJIIBT4 T H 258 284 542 228 | t2 = FAT 2 0 2 2
AEITH 196 226 422 190[ & R ET 79 78 157 61|HEBR1TH 115 142 257 94| ZHHMXET 2,297 2,222 4519 2,018
R BT 135 147 282 146 [ LL1) 11 BT 1,811 1,836 3,647 1,783|FI{RET2 T H 398 406 804 335

KIEET 197 201 398 195| EBFET1TH 216 241 457 220|FI{RET3T B 190 187 377 161+ EHET 795 793 1,588 735
FZHE] 159 157 316 158| EEF#ART2T B 249 272 521 21| EHBT1TH 0 0 0 0|tR ZHT 704 702 1,406 617
JTEHE] 123 162 285 137| £ B3 TH 225 242 467 198 JL SR Hh XX &+ 6,105 6,366] 12,471 5,612| EAH] 202 221 423 185
D[RR ET 351 386 737 320| EFHFFETAT H 289 357 646 372 =X E 1,701 1,716 3,417 1,537
|75 8 R % BT 160 179 339 161|ERET1TH 286 302 588 263|445 _EH] 148 175 323 152

R 110 107 217 106|ERET2TH 226 208 434 193| % B R AT 257 290 547 247|EEReEHT 2,131 2,289 4,420 2,172
JEHT 179 209 388 186| £ RET3TH 365 327 692 308| Z E THT 342 352 694 305|FERERT1TH 667 709 1,376 587
AL ILIET 191 241 432 227 | EFFHXET 7,312 7549 14861 6798|ZETHI1TH 10 0 10 10|ZERERT2TH 370 384 754 347
KHET 341 351 692 359 2EMXE 757 817 1574 714| ZERe s fr 206 159 365 183
{REAET 0 0 0 0 /\ & HT 746 811 1,557 743 EREHXET 3,374 3,541 6,915 3,289
FEEI1TH 141 163 304 199| & EHT 621 638 1,259 595 | B35 AT 436 443 879 396

REET2T B 162 198 360 194 3 3A BT 3,192 3,491 6,683 3,029 | 7G5 HT 182 179 361 144]/MRET 2,809 2,894 5,703 2,606
FEEI3TH 67 74 141 88| FEFT AT 763 724 1,487 587 | & [E AT 285 279 564 263|/MZEAET 396 374 770 362
tH 4 T 117 139 256 128|501 ET 704 630 1,334 613 | 3¢ [H AT 596 692 1,288 608 |/MZHh X &F 3,205 3,268 6,473 2,968
AEET1TH 252 235 487 218|EA AT 751 41 1,492 768| % HAET 197 180 377 174

KiERT2TH 193 176 369 190 F BT 1,015 1,029 2,044 1,255| BA F T 134 134 268 119

BF1TH 350 342 692 340[/\BET1 T H 443 473 916 4418 R ET 108 117 225 95

BF2TH 43 29 72 40|/\IBET2 T H 428 457 885 409 E A X ET 1,938 2,024 3,962 1,799

BIFSTH 338 364 702 337[/\BET3T B 172 189 361 166

Bh B {f BT 187 181 368 175|522 TH 338 349 687 346 | EEAHT 214 217 431 183

B B R LIET 249 267 516 226|BAEHI3TH 498 445 943 490 | FTEET 315 270 585 277

Bh F 7 LLIET 243 243 486 223|f&TERT1 T B 208 228 436 200| B XI5 0T 399 379 778 313

B B K{EHT 61 52 113 76[ 1L #h X & 9,879] 10,205] 20,084 9,642 |Fg KHET 1,255 1,172 2427 1,178

FriLET 442 544 986 489 ESCIETE 2,183 2,038 4,221 1,951

AT 304 317 621 267| 5 12HT 929 957 1,886 1,015 &&t 70,570 72,338] 142908| 67,594
FH BT 56 64 120 58| B+ ERAT 2,855 2,998 5,853 2,787|F &0 122 109 231 103 A B xt kb -74 -34 -108 17




